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Question 1

Question Type: MultipleChoice

Which two statements are true about standard dashboards?

Options:

A- Workload dashboards report on completed instances.
B- Performance dashboards report on in-flight instances.
C- By default, there is a 30-minute delay for workload data to be reflected in standard dashboards.

D- By default, data never ages out of the process analytics database because it is not periodically purged.

Answer:

C,D

Question 2

Question Type: MultipleChoice




Identify two correct statements about Oracle Event Processing (OEP).

Options:

A- It is a platform to develop and execute applications that process streaming data.
B- It is designed to connect businesses using standards-based event communication protocols.
C- Itis a powerful CQL engine that performs filtering, aggregations, calculations, and pattern matching in near real time.

D- It is an implementation of the Service Component Architecture (SCA) to process streaming data using regular expressions.

Answer:

C

Explanation:

http://lwww.oracle.com/technetwork/middleware/complex-event-processing/overview/sxds1213-0tn-2470236.pdf

Question 3

Question Type: MultipleChoice




You want to configure Oracle SOA Suite for Maximum Availability Architecture (MAA).

Which two activities must be completed?

Options:

A- Add managed servers to the domain configuration to support the Oracle SOA Suite cluster.
B- Run the Configuration Wizard on each server that will host Oracle SOA Suite managed servers.
C- Rework the Oracle SOA Suite domain configuration to use appropriate GridLink or multiple data sources.

D- Manually retarget the Oracle SOA Suite deployments to the newly created cluster.

Answer:

C

Explanation:

http://docs.oracle.com/cd/E28280 01/core.1111/e10106/ha_soa.htm

Question 4




Question Type: MultipleChoice

What does the Oracle B2B component do for an end-to-end EDI transaction?

Options:

A- EDI translation, validation, and transformation
B- only EDI translation and validation, but not transformation
C- only transformation, but not translation or validation

D- defines EDI documents, but does not do translation, validation, or transformation

Answer:

B

Question 5

Question Type: MultipleChoice

Composite X invokes an outbound DB adapter to write data to a database table. You have configured JCA retry at the binding
component as follows:



override ="may">2

override ="may">2

You have also modeled a fault policy to retry the invocation three times in case of remoteFault as follows:
3

3

What happens when the database that is being accessed by the above binding component goes down?

Options:

A- The invocation is retried for a total of two times every two seconds. Fault policy reties are ignored.
B- The invocation is retried for a total of six times every three seconds.
C- The invocation is retried for a total of six times every two seconds.

D- The fault policy retries occur within the JCA retries. So, two JCA retries are executed two seconds apart. Within each fault policy
retry, two JCA retries are executed two seconds apart.

Answer:

D



Question 6

Question Type: MultipleChoice

Given the following Oracle File Adapter configuration:
wsdlLocation="ReadPlanBenefit.wsdl"

xmins=http://platform.integration.oracle/blocks/adapter/fw/metadata>

className="oracle.tip.adapter.file.outbound.FileReadInteraction.Spec">

Which two statemnts are true?

Options:




A- The actual source directory will be specified by a property in the composite.xml file.
B- Each file read will be moved to an archive directory after it is successfully processed.
C- This configuration can be used to create an outbound business service component.

D- This configuration can be used to create an inbound proxy service component.

Answer:

C,D

Explanation:

https://docs.oracle.com/cd/E18727 _01/doc.121/e12894/T202991T207026.htm

Question 7

Question Type: MultipleChoice

Which expiration and escalation setting can be used to route a task a specified number of levels up a management chain if the assignee
does not respond in a given time period?



Options:

A- Never expire

B- Expire after

C- Route to manager
D- Renew after

E- Escalate after

F- Management chain

Answer:

Question 8

Question Type: MultipleChoice

Which tool would you use to enable more detailed logging of SOA components?

Options:




A- WebLogic Console
B- Enterprise Manager
C- BPM Workspace

D- WebLogic Diagnostics Framework (WLDF)

Answer:

D

Question 9

Question Type: MultipleChoice

You have modeled a Composite X for which the following fault policy action has been configured for remote faults:



At runtime, when a remote fault occurs on at outbound invoke, this ora-retry action is triggered. After the two configured retries are
exhausted, which one occurs?

Options:

A- The transaction of Composite X rolls back.
B- The instance is marked "open.faulted" and is available for auto-recovery.

C- The instance is marked "closed.faulted" and is available for error recovery from Enterprise Manager where the user can choose
actions on the instance such as replay, rethrow, and abort.

D- The default retryFailureAction is initiated and it rethrows the error back to the caller service.

Answer:

B

Explanation:

http://docs.oracle.com/cd/E15586_01/integration.1111/e10224/bp_faults.htm
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